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2. Consider a three period economy. The household’s preference is given by u(c;) +
u(ca) + u(cs); where c; is consumption in period ¢. The real interest is 7 = 0. Before
tax incomes are given by e; = 200, e; = 1000, and e3 = 200. The consumer is not

et w2

(a) [15] Assuming that lump-sum taxes are given by 7, = 100, T» = 100, and
T3 = 100, solve the consumer’s optimal consumption and end-of-period net asset
position in each period.

(b) [15] Assume that the government reduces current tax T} to zero with out changing
its expenditures. T3 also remains at 100. Solve the consumer’s optimal consump-
tion and end-of-period net asset position in each period.

(c) [5] Explain why Ricardian Equivalence fails when the taxes are changed from the
levels in part (a) to the levels in part (b) (in doing so, focus on which assumption
of Ricardian Equivalence is not satisfied in this environment).
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